EARAROBEEIERT — 2 N— IBISH —F

2019558180 (£) 4BMAE1H

IR C2—15%# C2 H5%4mt ‘ (X8l /™ ‘ [REmsh  — | & () 13000 T2
[AE£] 1% :250,000” ~ 23#%&:7500M  33%&:25000MH  43%&:15000 M ~ 57 :10,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N oo W& :23. —2-2- . — AR (EB)
i AP E ST o4 TR 1(2_3)7 2-2-2-1 |38.5 2 (4?) Lo =1
L:ECFAYY BYHSALTE2IYT RS
¢ 4 5 | BERM 1:24.5 5-5-3-2 | 38.8| — 3 412 | ABER (£8)
2|88 | F—YV—/INT— 5.0 @ o) | (B y PN
R:hoN=Z— B:AZYI /9% [Ea=bie)
— 7= 4 6 | HAKIRE 1:25.6 4-4-5-6 | 39.6 | — 5 503 | BAREE (£H)
35|57 7=~ 54.0 (6) @5 | (B J P NEH
L:F1—=TZAHA B:NFIAXZAIL FE NS
S 4 5 | HPEA 1:25.7 8-7-7-5 |39.4| — 7 433 | FHHBBAIE (1)
s 6| ¥RV 54.0 3/4) s | R AT
R:g— MLEYINL BTUETITHRYZR UL e
S, o 4 4 | IS 1:26.2 1-1-1-3 | 41.0| — 4 M4 | EHEE (ZB)
5 3| vav~ 54.0 2 1/2) -5) ‘}E#gﬁl
RiZv—bK—q B:T7HFHI Ve Y ¢
SV Vs 44 | TR 1:26.5 7-8-8-8 |40.0| — 9 396 | BARAT (ER)
6111 AE—IFTH L 56.0 (1 1/2) -7 FrRZRR -
R:AO—XF¥>J4L B:TIV—FF1 b ILIL, YYET7—L
. = 4 4 | EBERE 1:26.8 3-3-4-4 | 40.9| — 1 506 | KIEEK (1£%)
] 2 Fr3a-I7r 56.0 (11/2) (+5) =HAEE
L:O—KFHFO7 B4 7L TUHFERZ =EEAKS
T 4 6 | FHARIK 1:27.1 9-9-9-9 |39.6| — 8 452 | BAREE (ER)
818|9 AW G| 4.0 (11/2) (-4) (B) J P NFHf
R:O—-Y X124 BNAFRATTIL FiE BE
5 4 5 | HKEA 1:27.4 6-6-6-7 |41.1| — 6 467 | RIEBE (£E)
9(7|7|77%%* 753.0 (11/2) 19y | B P
LN—=HNK B:T7I7vHvrKY TIXTT— L
® I—F—@EBIERL
13—7F— 3,4,2,5,8,7,1,6,9
20—7— 3,4,2,5,8,7,6,1,9
T =35r= 3,4,8,2,5,7,6,1,9
41—F— 4,8,3,2,6,5,7,1,9
[ RN
B 4 330M 794K 4-8 320M & 4-8 970M &R 4-5-8 1,400
# B 4 160/ 4-5 400 B E 4-8 940M EE 4-8-5 5,720/
8 200M 5-8 510 B H 4-8 1,410/
5 250M

ABICOVWTRDTEEERROODE. TR LIV,




